Price Agreement Description
Price Agreement Number
Start Date
End Date
Authorized 1 Year Amount
Purchasing Contact

Large Concrete
#12011
12/14/2011
12/13/2014
\$9,716,580.00
Angi Mize x8262

PA12011-R2 PA12011S-R2 Santos Construction Ignacio Santos 972-296-5813

ycasas@santosci.com

					<u>ycasas@s</u>	anto	osci.com							
Ite	Line Item Description	UOM	Est.	U	nit Price		Est Cost	201						% inc
m#			Quanti					201	.4 posed			¢ in	c over	over origin
			ty					cos	•	nev	w total		ginal	al
1	Remove 6" to 8" thick reinforced concrete 0-:	SY	660	\$	8.00	\$	5,280.00	\$	10.00	\$	6,600.00	\$	2.00	25%
2	Remove 6" to 8" thick reinforced concrete 51	SY	1200	\$	8.00	\$	9,600.00	\$	10.00	\$	12,000.00	\$	2.00	25%
3	Remove 6" to 8" thick reinforced concrete 50	SY	1600	\$	8.00	\$	12,800.00	\$	10.00	\$	16,000.00	\$	2.00	25%
4	Remove 6" to 8" thick reinforced concrete 1,0	SY	32000	\$	8.00	\$	256,000.00	\$	10.00	\$	320,000.00	\$	2.00	25%
5	Remove 4" to 5" concrete sidewalk 0-250 s.y.	SY	800	\$	6.00	\$	4,800.00	\$	7.25	\$	5,800.00	\$	1.25	21%
6	Remove 4" to 5" concrete sidewalk 251-800 s	SY	800	\$	6.00	\$	4,800.00	\$	7.25	\$	5,800.00	\$	1.25	21%
7	Remove 4" to 5" concrete sidewalk 801-1,200	SY	1200	\$	6.00	\$	7,200.00	\$	7.25	\$	8,700.00	\$	1.25	21%
8	Remove 4" to 5" concrete sidewalk 1,201+ s.	SY	4000	\$	6.00	\$	24,000.00	\$	7.25	\$	29,000.00	\$	1.25	21%
9	4" concrete sidewalk 6.5 sack (4500 p.s.i.) 2"	SY	1100	\$	43.50	\$	47,850.00	\$	43.50	\$	47,850.00	\$	-	0%
10	4" concrete sidewalk 6.5 sack (4500 p.s.i.) 2"	SY	1100	\$	43.50	\$	47,850.00	\$	43.50	\$	47,850.00	\$	_	0%
11	4" concrete sidewalk 6.5 sack (4500 p.s.i.) 2"	SY	1600	\$	33.50	\$	53,600.00	\$	42.00	\$	67,200.00	\$	8.50	25%
12	4" concrete sidewalk 6.5 sack (4500 p.s.i.) 2"	SY	6000	\$	33.50	\$	201,000.00	\$	42.00	\$	252,000.00	\$	8.50	25%
13	8" concrete for pavement 6.5 sack (4500 p.s.i.	SY	800	\$	46.00	\$	36,800.00	\$	50.00	\$	40,000.00	\$	4.00	9%
14	8" concrete for pavement 6.5 sack (4500 p.s.i.	SY	1600	\$	42.50	\$	68,000.00	\$	50.00	\$	80,000.00	\$	7.50	18%
15	8" concrete for pavement 6.5 sack (4500 p.s.i.	SY	32000	\$	42.50	\$	1,360,000.00	\$	50.00	_	1,600,000.00	\$	7.50	18%
16	10" concrete for pavement 6.5 sack (4500 p.s.	SY	600	\$	53.00	\$	31,800.00	\$	54.00	\$	32,400.00	\$	1.00	2%
17	10" concrete for pavement 6.5 sack (4500 p.s	SY	1600	\$	44.00	\$	70,400.00	\$	51.50	\$	82,400.00	\$	7.50	17%
18	10" concrete for pavement 6.5 sack (4500 p.s.	SY	4000	\$	44.00	\$	176,000.00	\$	51.50	\$	206,000.00	\$	7.50	17%
19	Quick Set type Concrete (owner approved mix	CY	500	\$	170.00	\$	85,000.00	\$	120.00	\$	60,000.00	\$	(50.00)	-29%
20	Quick Set type Concrete (owner approved mix	CY	800	\$	170.00	\$	136,000.00	\$	120.00	\$	96,000.00	\$	(50.00)	-29%
21	Quick Set type Concrete (owner approved mix	CY	1200	\$	170.00	\$	204,000.00	\$	120.00	\$	144,000.00	\$	(50.00)	-29%
22	8" Alley Pavement as per Standard Detail Sho	SY	700	\$	48.00	\$	33,600.00	\$	50.50	\$	35,350.00	\$	2.50	5%
23	8" Alley Pavement as per Standard Detail Sho	SY	1600	\$	45.00	\$	72,000.00	\$	50.50	\$	80,800.00	\$	5.50	12%
24	8" Alley Pavement as per Standard Detail Sho	SY	6000	\$	43.50	\$	261,000.00	\$	50.50	\$	303,000.00	\$	7.00	16%
25	Type "D" HMAC compacted in-place for	Tons	1200	\$	98.00	\$	117,600.00	\$	125.00					
	temp. and permanent tie-ins of concrete									\$	150,000.00	\$	27.00	28%
	Cold mix asphalt mix complete in-place for tie	Tons	1000	\$	98.00		98,000.00		95.00	\$	95,000.00	\$	(3.00)	-3%
27	Type I barrier free ramps at intersections to include all removal with out 24" blockout 6.5	Each	160	\$	900.00	\$	144,000.00	\$ 1	1,100.00	\$	176,000.00	\$	200.00	22%
28	Type II barrier free ramps at intersections to include all removal with out 24" blockout 6.5	Each	160	\$	900.00	\$	144,000.00	\$ 1	1,100.00	\$	176,000.00	\$	200.00	22%
29	Type IV barrier free ramps at intersections to include all removal with out 24" blockout 6.5	Each	160	\$	900.00	\$	144,000.00	\$ 1	1,100.00		,			
20		Each	160	¢	000.00	¢	144,000.00	¢ 1	1,100.00	\$	176,000.00	\$	200.00	22%
	Type V barrier free ramps at intersections to include all removal with out 24" blockout 6.5	Each	160	\$	900.00	\$,			\$	176,000.00	\$	200.00	22%
31	Type VI (Double Connection) barrier free	Each	100	\$	1,000.00	\$	100,000.00	\$ 1	1,100.00	6	110 000 00	6	100.00	1001
32	ramps at intersections to include all removal 6" Integral Curb	T F7	15000	ď	2.00	\$	30,000.00	\$	2.00		110,000.00	\$	100.00	10%
	8" Integral Curb	LF	15000	\$	2.00	\$	6,600.00	\$	6.00	\$	30,000.00	\$	- 2.00	0%
	6" concrete drive approach up to connecting s	LF	2200	\$	3.00	_	156,000.00	\$	58.00	\$	13,200.00	\$	3.00	100%
54	o concrete arrive approach up to connecting s	SY	3000	\$	52.00	\$	130,000.00	Ф	20.00	\$	174,000.00	\$	6.00	12%

Ite m#	Line Item Description	UOM	Est. Quanti ty	Unit	Price	Est Cost	201 pro	4 posed			\$ inc	e over	% inc over origin
			0,3				cos		nev	w total	origi		al
35	30" curb and gutter to include 6" curb 6.5 sac	LF	500	\$	17.00	\$ 8,500.00	\$	20.00	\$	10,000.00	\$	3.00	18%
36	30" curb and gutter to include 6" curb 6.5 sac	LF	10000	\$	17.00	\$ 170,000.00	\$	20.00	\$	200,000.00	\$	3.00	18%
37	24" curb and gutter to include 6" curb 6.5 sac	LF	500	\$	17.00	\$ 8,500.00	\$	20.00	\$	10,000.00	\$	3.00	18%
38	24" curb and gutter to include 6" curb 6.5 sac	LF	10000	\$	17.00	\$ 170,000.00	\$	20.00	\$	200,000.00	\$	3.00	18%
39	18" curb and gutter to include 6" curb 6.5 sac	LF	100	\$	16.00	\$ 1,600.00	\$	18.00	\$	1,800.00	\$	2.00	13%
40	18" curb and gutter to include 6" curb 6.5 sac	LF	200	\$	16.00	\$ 3,200.00	\$	18.00	\$	3,600.00	\$	2.00	13%
41	18" curb and gutter to include 6" curb 6.5 sac	LF	10000	\$	16.00	\$ 160,000.00	\$	18.00	\$	180,000.00	\$	2.00	13%
42	Mow strip 12" x 12" #3 Rebar Ladder Shape	LF	400	\$	15.00	\$ 6,000.00	\$	15.00	\$	6,000.00	\$	-	0%
43	3" High Reinforced Concrete Berm as per Sp	LF	500	\$	8.00	\$ 4,000.00	\$	8.00	\$	4,000.00	\$	-	0%
44	3" High Reinforced Concrete Berm as per Spo	LF	200	\$	8.00	\$ 1,600.00	\$	8.00	\$	1,600.00	\$	-	0%
45	4" High Reinforced Concrete Berm as per Spo	LF	500	\$	8.00	\$ 4,000.00	\$	8.00	\$	4,000.00	\$	-	0%
46	4" High Reinforced Concrete Berm as per Spo	LF	200	\$	8.00	\$ 1,600.00	\$	8.00	\$	1,600.00	\$	-	0%
47	SDHPT (grade 2), Type A Flex Base - provid	Ton	20000	\$	30.00	\$ 600,000.00	\$	30.00	\$	600,000.00	\$	-	0%
48	5"- 6" depth stamped patterned median (3000	SY	1500	\$	98.00	\$ 147,000.00	\$	98.00	\$	147,000.00	\$	-	0%
49	Retaining wall (0-3') with 6' integral sidewalk	LF	5000	\$	60.00	\$ 300,000.00	\$	67.00	\$	335,000.00	\$	7.00	12%
50	Remove HMAC and necessary sub-base	SY	10000	\$	7.00	\$ 70,000.00	\$	9.00	\$	90,000.00	\$	2.00	29%
51	Saw cut full depth concrete 6" to 10"	LF	30000	\$	1.75	\$ 52,500.00	\$	2.15	\$	64,500.00	\$	0.40	23%
52	Saw cut full depth concrete sidewalk 4 to 5"	LF	2000	\$	1.75	\$ 3,500.00	\$	2.15	\$	4,300.00	\$	0.40	23%
53	Saw cut asphalt full depth 2" to 6"	LF	15000	\$	1.75	\$ 26,250.00	\$	2.15	\$	32,250.00	\$	0.40	23%
54	Rout and Seal Random Cracks to include cleaning, complete in-place on both asphalt	LF	10000	\$	0.80	\$ 8,000.00	\$	1.20	\$	12,000.00	\$	0.40	50%
55	Sodding 1' to 2' on all sides of construction -	SY	10000	\$	5.00	\$ 50,000.00	\$	6.00	\$	60,000.00	\$	1.00	20%
56	Sodding 1' to 2' on all sides of construction -	SY	10000	\$	5.00	\$ 50,000.00	\$	6.00	\$	60,000.00	\$	1.00	20%
57	Unclassified Excavation 0-50 c.y.	CY	1000	\$	15.00	\$ 15,000.00	\$	17.00	\$	17,000.00	\$	2.00	13%
58	Unclassified Excavation 51-100 c.y.	CY	600	\$	14.00	\$ 8,400.00	\$	17.00	\$	10,200.00	\$	3.00	21%
59	Unclassified Excavation 101+ c.y.	CY	20,000	\$	13.00	\$ 260,000.00	\$	17.00	\$	340,000.00	\$	4.00	31%
60	Excavation/Removal of curb and gutter only	LF	200	\$	9.00	\$ 1,800.00	\$	9.00	\$	1,800.00	\$	-	0%
61	Excavation/Removal of curb and gutter only	LF	200	\$	9.00	\$ 1,800.00	\$	9.00	\$	1,800.00	\$	-	0%
62	Excavation/Removal of curb and gutter only	LF	15000	\$	9.00	\$ 135,000.00	\$	9.00	\$	135,000.00	\$	-	0%
63	Traffic Control on Major Thoroughfares,- (to be determined by owner) -This unit pay item will be used to offset cost for additional	Each	20	\$ 1	,500.00	\$ 30,000.00	\$ 1	1,500.00	\$	30,000.00	\$		0%
64	Silt Fence – furnish and install complete in pl	LF	500	\$	2.00	\$ 1,000.00	\$	2.00	\$	1,000.00	\$	<u>-</u> -	0%
	Inlet Protection, furnish and install complete i	Each	20	\$	75.00	\$ 1,500.00	\$	75.00	\$	1,500.00	\$		0%
66	Construction (Stone) Entrance, complete in pl	Each	10	\$	200.00	\$ 2,000.00	\$	200.00	\$	2,000.00	\$		0%
67	Unclassified Channel/Swale Grading and Compaction (95% Standard Proctor Density at Optimum Moisture), clearing and	CY	1000	\$	20.00	\$ 20,000.00	\$	20.00		,			
68	grubbing, work fully performed, paid for by Select Fill Material for Channel/Swale Grading and Compaction pay for Material and Hauling to Site, placing the material	CY	1000	\$	24.00	\$ 24,000.00	\$	24.00	\$	20,000.00	\$	-	0%
69	Topsoil for Finished Grading, furnish and place including fine grading to drain. Paid by	CY	1000	\$	18.00	\$ 18,000.00	\$	30.00	\$	30,000.00	\$	12.00	67%
	Cleaning Culverts (18"-12"- 33" Pipe or 2.5' Height Box) remove debris, earth and other objectionable material from pipe and box	CY	1000	\$	27.00	\$ 27,000.00	\$	21.00	\$	21,000.00	\$	(6.00)	-22%
71	Cleaning Culverts (36"+ Pipe or 2.5'+ Height Box) remove debris, earth and other	CY	1000	\$	27.00	\$ 27,000.00	\$	21.00	\$	21,000.00	\$	(6.00)	-22%

	Line Item Description	UOM	Est.	Uı	nit Price	Est Cost	201						% inc
m#			Quanti ty				201 pro	14 posed			\$ ir	nc over	over origin
			- 5,				cos		nev	w total		ginal	al
72	Additional Clearing and Grubbing Along Channels, Headwalls, and Inlets, as called	CY	1000	\$	45.00	\$ 45,000.00	\$	18.00	\$	18,000.00	\$	(27.00)	-60%
73	Structural Reinforced Concrete, flumes, retaining walls, Wing walls and Headwalls to TxDot Standards, and other miscellaneous structural items, including formwork, cutting joints, testing, saw cutting existing	CY	1500	\$	450.00	\$ 675,000.00	\$	450.00	\$	675,000.00	\$	-	0%
74	Non & Reinforced Concrete (2,000 p.s.i.) thrust blocking, pipe collars, pipe plugs, encasement for utility mains, including	CY	500	\$	120.00	\$ 60,000.00	\$	60.00	\$	30,000.00	\$	(60.00)	-50%
75	12" Grouted Rock Riprap over Filter Fabric, furnish and install complete in place, 40% of	CY	500	\$	175.00	\$ 87,500.00	\$	100.00	\$	50,000.00	\$	(75.00)	-43%
76	24" Grouted Riprap over Filter Fabric, furnish and install complete in place, 40% of	CY	1000	\$	225.00	\$ 225,000.00	\$	100.00	\$	100,000.00	\$	(125.00)	-56%
77	Sheeting Shoring and Bracing, Site Specific Trench Safety Plan submitted to owner, OSHA Standards that are in effect at the	Each	10	\$	50.00	\$ 500.00	\$	50.00	\$	500.00	\$	_	0%
78	Implement Trench Safety Plan 0-6.1 foot depth to flowline of pipe, furnish and install	LF	200	\$	1.50	\$ 300.00	\$	1.50	\$	300.00	\$	_	0%
79	Implement Trench Safety Plan 6.1-10 foot depth to flowline of pipe, furnish and install	LF	200	\$	1.50	\$ 300.00	\$	1.50	\$	300.00	\$	_	0%
80	Implement Trench Safety Plan 10.1-15 foot depth to flowline of pipe, furnish and install	LF	200	\$	1.50	\$ 300.00	\$	1.50	\$	300.00	\$	_	0%
81	Additional Compacted Native Backfill for Pipe and Box Culverts, use existing material, excavation, backfill, to be paid only for	CY	500	\$	17.50	\$ 8,750.00	\$	15.00	\$	7,500.00	\$	(2.50)	-14%
82	Additional Modified flowable backfill – per tickets turned in daily, to be paid only if	CY	500	\$	120.00	\$ 60,000.00	\$	120.00	\$	60,000.00	\$	-	0%
83	Additional Well Graded Crushed Stone (1/4" to 3/4") Backfill for embedment, to be paid	CY	500	\$	33.50	\$ 16,750.00	\$	20.00	\$	10,000.00	\$	(13.50)	-40%
84	Additional Well Graded Crushed Stone (1" to 3") Backfill for embedment, to be paid	CY	500	\$	35.00	\$ 17,500.00	\$	20.00	\$	10,000.00	\$	(15.00)	-43%
85	Additional Sand Backfill for Pipe or Box Culverts, to be paid only if specifically	CY	500	\$	14.00	\$ 7,000.00	\$	11.00	\$	5,500.00	\$	(3.00)	-21%
86	Box Culverts, as per details work fully performed, to be paid only if specifically	CY	500	\$	25.50	\$ 12,750.00	\$	20.00	\$	10,000.00	\$	(5.50)	-22%
87	Reinforced Concrete Box Culvert, including formwork, cutting joints, testing, embedment, excavation, backfill and other	CY	500	\$	550.00	\$ 275,000.00	\$	450.00	\$	225,000.00	\$	(100.00)	-18%
88	48" CL III RCP storm drain pipe, open cut furnish and install complete in place including embedment, excavation, backfill,	LF	50	\$	225.00	\$ 11,250.00	\$	190.00		· · · · · · · · · · · · · · · · · · ·			
89	48" CL III RCP storm drain pipe, open cut, furnish and install complete in place	LF	75	\$	190.00	\$ 14,250.00	\$	190.00	\$	9,500.00	\$	(35.00)	-16%
90	including embedment, backfill, clay cut-off 48" RCP storm drain pipe connection,	Each	10	\$	425.00	\$ 4,250.00	\$	200.00	\$	14,250.00 2,000.00	\$	(225.00)	-53%
91	36" CL III RCP storm drain pipe, open cut furnish and install complete in place including embedment, excavation, backfill,	LF	75	\$	160.00	\$ 12,000.00	\$	100.00					
92	36" CL III RCP storm drain pipe, open cut, furnish and install complete in place	LF	100	\$	130.00	\$ 13,000.00	\$	100.00	\$	7,500.00	\$	(60.00)	
93	including embedment, backfill, clay cut-off 36" RCP storm drain pipe connection, furnish and install complete in place	Each	10	\$	425.00	\$ 4,250.00	\$	200.00	\$ \$	10,000.00 2,000.00	\$	(30.00)	-23% -53%

Ite m#	Line Item Description	UOM	Est. Quanti	Unit P	rice	Est Cost	201	1				% inc
111#			ty					oosed	new	total	nc over ginal	origin al
	30" CL III RCP storm drain pipe, open cut furnish and install complete in place including embedment, excavation, backfill,	LF	300	\$	85.00	\$ 25,500.00	\$	85.00	\$	25,500.00	\$ -	0%
	30" CL III RCP storm drain pipe, open cut, furnish and install complete in place including embedment, backfill, clay cut-off	LF	300	\$	75.00	\$ 22,500.00	\$	75.00	\$	22,500.00	\$ -	0%
	30" RCP storm drain pipe connection,	Each	10	\$ 4	100.00	\$ 4,000.00	\$	200.00	\$	2,000.00	\$ (200.00)	-50%
97	24" CL III RCP storm drain pipe, open cut furnish and install complete in place including embedment, excavation, backfill,	LF	300	\$	70.00	\$ 21,000.00	\$	70.00	\$	21,000.00	\$ -	0%

Ite	Line Item Description	UOM	Est.	lυ	nit Price	l	Est Cost							% inc
m#			Quanti					20				ф.		over
			ty					cos	posed t	nev	v total		nc over ginal	origin al
98	24" CL III RCP storm drain pipe, open cut,	LF	1000	\$	62.00	\$	62,000.00	\$	62.00			Ė		
	furnish and install complete in place											_		
99	including embedment, backfill, clay cut-off 24" RCP storm drain pipe connection,					\$	7,500.00	\$	250.00	\$	62,000.00	\$	-	0%
	furnish and install complete in place 18" CL III RCP storm drain pipe, open cut	Each	20	\$	375.00					\$	5,000.00	\$	(125.00)	-33%
100	furnish and install complete in place including embedment, excavation, backfill,	LF	300	\$	60.00	\$	18,000.00	\$	60.00	\$	18,000.00	\$	_	0%
101	18" CL III RCP storm drain pipe, open cut, furnish and install complete in place including embedment, backfill, clay cut-off	LF	300	\$	52.00	\$	15,600.00	\$	52.00	\$	15,600.00	\$	_	0%
102	18" RCP storm drain pipe connection,	Each	10	\$	250.00	\$	2,500.00	\$	200.00	\$	2,000.00	\$	(50.00)	-20%
108	Recessed Curb Inlet (5'), remove old	Each	30	\$	2,350.00	\$	70,500.00	\$	2,350.00		•		(******)	
100	inlet/furnish and install complete in place, Recessed Curb Inlet (10'), remove old	Each	30	\$	3,200.00	\$	96,000.00	\$	3,200.00	\$	70,500.00	\$	-	0%
10)	inlet/furnish and install complete in place,	Lacii	30	Ψ	3,200.00	Ψ	70,000.00	Ψ	3,200.00	\$	96,000.00	\$	_	0%
110	Modified Combination Recessed Curb &	Each	30	\$	3,000.00	\$	90,000.00	\$	3,000.00		· · · · · · · · · · · · · · · · · · ·			
111	Grate Inlet (5'), remove old inlet/furnish and Modified Combination Recessed Curb &	Each	30	\$	3,500.00	\$	105,000.00	\$	3,500.00	\$	90,000.00	\$	-	0%
111	Grate Inlet (10'), remove old inlet/furnish	Lacii	30	φ	3,300.00	φ	103,000.00	φ	3,300.00	\$	105,000.00	\$	_	0%
112	Standard Depressed Curb (5'), remove old inlet/furnish and install complete in place,	Each	30	\$	2,450.00	\$	73,500.00	\$	2,450.00	\$	73,500.00	\$	-	0%
113	Standard Depressed Curb (10'), remove old inlet/furnish and install complete in place,	Each	30	\$	3,100.00	\$	93,000.00	\$	3,100.00	\$	93,000.00	\$	-	0%
114	Increase Proposed Inlet Length by 5 Linear Feet (Recessed Curb Inlet), contractor to bill	Each	30	\$	950.00	\$	28,500.00	\$	1,100.00	\$	33,000.00	\$	150.00	16%
115	Increase Proposed Inlet Length by 5 Linear Feet (Modified Combination Recessed Curb Inlet), contractor to bill for modified	Each	30	\$	950.00	\$	28,500.00	\$	950.00	\$	28,500.00	\$	_	0%
116	Increase Proposed Inlet Length by 5 Linear Feet (Standard Depressed Curb Inlet),	Each	30	\$	950.00	\$	28,500.00	\$	950.00					
117	contractor to bill for standard depressed curb 5' inlet Extra Depth of Recessed/Standard Inle					\$	2,000.00	\$	200.00	\$	28,500.00	\$	-	0%
	5' x 5' Type "Y" (table top) inlet, furnish and	LF Each	10 30	\$	200.00 2,850.00	\$	85,500.00		1,650.00	\$	2,000.00	\$	-	0%
118	install complete in place, pipe connections,	Eacn	30	Ъ	2,850.00	•	85,500.00	Э	1,050.00	\$	49,500.00	\$	(1,200.00)	-42%
119	4' x 4' Type "Y" (table top) inlet, furnish and install complete in place, pipe connections,	Each	30	\$	2,600.00	\$	78,000.00	\$	1,650.00	\$	49,500.00	\$	(950.00)	-37%
	Type "A, B or E" Storm Drain Manhole, furnish and install, complete in place, Ring	CY	300	\$	400.00	\$	120,000.00		400.00	\$	120,000.00	\$	-	0%
	Stacked Manhole Extension, as per details, 48" dia., Ring and Cover, collar around pipe,	VF	50	\$	55.00	\$	2,750.00	\$	55.00	\$	2,750.00	\$	-	0%
122	Adjust Water Mains, Wastewater Mains, Manholes, or other utility conflicts with the storm drain pipe, furnish and install all materials complete in place, contractor to be	%	1%		25%				0.25	\$	0.00	\$	_	0%

Ite m#	Line Item Description	UOM	Est. Quanti	Uni	t Price	Est Cost	201					% inc
			ty				cos	posed t	new	total	 nc over ginal	origin al
123	Utility Pole Bracing, coordinating with Franchise Utility Company, bracing pole or	Each	25	\$	50.00	\$ 1,250.00	\$	50.00	\$	1,250.00	\$ -	0%
124	Type A, B, or E, Storm Drain Manhole, furnish and install complete in place, Ring and Cover, pipe connections, 6.1-8'depth to	LF	200	\$	450.00	\$ 90,000.00	\$	100.00	\$	20,000.00	\$ (350.00)	-78%
125	Type A, B, or E, Storm Drain Manhole, furnish and install complete in place, Ring and Cover, pipe connections, 8.1-10'depth to	LF	200	\$	450.00	\$ 90,000.00	\$	100.00	\$	20,000.00	\$ (350.00)	-78%
126	Type A, B, or E, Storm Drain Manhole, furnish and install complete in place, Ring and Cover, pipe connections, 10.1-12'depth	LF	200	\$	450.00	\$ 90,000.00	\$	100.00	\$	20,000.00	\$ (350.00)	-78%
127	Type A, B, or E, Storm Drain Manhole, furnish and install complete in place, Ring and Cover, pipe connections, 12.1-14'depth	LF	200	\$	450.00	\$ 90,000.00	\$	100.00	\$	20,000.00	\$ (350.00)	-78%
128	10' inlet Extra Depth of Recessed/Standard In	LF	10	\$	250.00	\$ 2,500.00	\$	250.00	\$	2,500.00	\$ -	0%
129	Rock Filler Dam Type 1	LF	100	\$	15.00	\$ 1,500.00	\$	15.00	\$	1,500.00	\$ -	0%
130	Rock Filler Dam Type 2	LF	100	\$	20.00	\$ 2,000.00	\$	20.00	\$	2,000.00	\$ -	0%
131	Rock Filler Dam Type 3 Total	LF	100	\$	60.00	\$ 6,000.00 716,580.00	\$	20.00	\$	2,000.00	\$ (40.00)	-67%

Price Agreement Description rge Concrete Pavem
Price Agreement Number
Start Date
End Date
Authorized 1 Year Amount
Purchasing Contact
Purchasing Contact

Price Agreement Description rge Concrete Pavem
#12011
12/14/2011
12/13/2014
\$9,716,580.00
Angi Mize x8262

PA12011-R2 PA12011S-R2 McMahon Contracting William Mee 972-263-6907

will@mcmahoncontracting.com

Ita	Line Item Description	UOM	Est.		it Price		Est Cost	<u> </u>				
m#	Line item Description	UOM	Quanti	On	it I I ice		Est Cost					% inc
111,			ty					2014			\$ inc	over
								proposed			over	origin
								cost	nev	v total	original	al
1	Remove 6" to 8" thick reinforced concrete 0-:		660	\$	9.15	\$	6,039.00	\$11.36	\$	7,497.60	\$2.21	24%
2	Remove 6" to 8" thick reinforced concrete 51	SY	1200	\$	9.15	\$	10,980.00	\$11.36	\$	13,632.00	\$2.21	24%
3	Remove 6" to 8" thick reinforced concrete 50	SY	1600	\$	9.15	\$	14,640.00	\$11.36	\$	18,176.00	\$2.21	24%
4	Remove 6" to 8" thick reinforced concrete 1,0	SY	32000	\$	9.15	\$	292,800.00	\$11.36	\$	363,520.00	\$2.21	24%
5	Remove 4" to 5" concrete sidewalk 0-250 s.y.	SY	800	\$	7.25	\$	5,800.00	\$8.51	\$	6,808.00	\$1.26	17%
6	Remove 4" to 5" concrete sidewalk 251-800 s	SY	800	\$	7.25	\$	5,800.00	\$8.51	\$	6,808.00	\$1.26	17%
7	Remove 4" to 5" concrete sidewalk 801-1,200	SY	1200	\$	7.25	\$	8,700.00	\$8.51	\$	10,212.00	\$1.26	17%
8	Remove 4" to 5" concrete sidewalk 1,201+ s.:	SY	4000	\$	7.25	\$	29,000.00	\$8.51	\$	34,040.00	\$1.26	17%
9	4" concrete sidewalk 6.5 sack (4500 p.s.i.) 2"	SY	1100	\$	40.00	\$	44,000.00	\$44.79	\$	49,269.00	\$4.79	12%
10	4" concrete sidewalk 6.5 sack (4500 p.s.i.) 2"	SY	1100	\$	40.00	\$	44,000.00	\$44.79	\$	49,269.00	\$4.79	12%
11	4" concrete sidewalk 6.5 sack (4500 p.s.i.) 2"	SY	1600	\$	40.00	\$	64,000.00	\$44.79	\$	71,664.00	\$4.79	12%
12	4" concrete sidewalk 6.5 sack (4500 p.s.i.) 2"	SY	6000	\$	40.00	\$	240,000.00	\$44.79	\$	268,740.00	\$4.79	12%
13	8" concrete for pavement 6.5 sack (4500 p.s.i	SY	800	\$	50.00	\$	40,000.00	\$57.51	\$	46,008.00	\$7.51	15%
14	8" concrete for pavement 6.5 sack (4500 p.s.i	SY	1600	\$	50.00	\$	80,000.00	\$57.51	\$	92,016.00	\$7.51	15%
15	8" concrete for pavement 6.5 sack (4500 p.s.i	SY	32000	\$	52.00	\$	1,664,000.00	\$57.51	\$	1,840,320.00	\$5.51	11%
16	10" concrete for pavement 6.5 sack (4500 p.s.	SY	600	\$	55.00	\$	33,000.00	\$64.02	\$	38,412.00	\$9.02	16%
17	10" concrete for pavement 6.5 sack (4500 p.s	SY	1600	\$	55.00	\$	88,000.00	\$64.02	\$	102,432.00	\$9.02	16%
18	10" concrete for pavement 6.5 sack (4500 p.s.	SY	4000	\$	52.00	\$	208,000.00	\$59.00	\$	236,000.00	\$7.00	13%
19	Quick Set type Concrete (owner approved mix	CY	500	\$	100.00	\$	50,000.00	\$134.00	\$	67,000.00	\$34.00	34%
20	Quick Set type Concrete (owner approved mix	CY	800	\$	100.00	\$	80,000.00	\$134.00	\$	107,200.00	\$34.00	34%
21	Quick Set type Concrete (owner approved mix	CY	1200	\$	50.00	\$	60,000.00	\$134.00	\$	160,800.00	\$84.00	168%
22	8" Alley Pavement as per Standard Detail Sho	SY	700	\$	55.00	\$	38,500.00	\$63.55	\$	44,485.00	\$8.55	16%
23	8" Alley Pavement as per Standard Detail Sho	SY	1600	\$	55.00	\$	88,000.00	\$63.55	\$	101,680.00	\$8.55	16%
24	8" Alley Pavement as per Standard Detail Sho	SY	6000	\$	42.00	\$	252,000.00	\$54.90	\$	329,400.00	\$12.90	31%
25	Type "D" HMAC compacted in-place for	Tons	1200	\$	130.00	\$	156,000.00					
	temp. and permanent tie-ins of concrete							\$130.00	\$	156,000.00	\$0.00	0%
26	Cold mix asphalt mix complete in-place for ti		1000	\$	85.00	\$	85,000.00	\$85.00	\$	85,000.00	\$0.00	0%
27	Type I barrier free ramps at intersections to	Each	160	\$	800.00	\$	128,000.00	400000				
20	include all removal with out 24" blockout	Eash	160	ď	780.00	Φ	124 900 00	\$800.00	\$	128,000.00	\$0.00	0%
28	Type II barrier free ramps at intersections to include all removal with out 24" blockout	Each	160	\$	/80.00	\$	124,800.00	\$780.00	\$	124,800.00	\$0.00	0%
29	Type IV barrier free ramps at intersections to	Each	160	\$	775.00	\$	124,000.00	,	Ψ	121,000.00	Ψ0.00	070
	include all removal with out 24" blockout						•	\$775.00	\$	124,000.00	\$0.00	0%
30	Type V barrier free ramps at intersections to	Each	160	\$	775.00	\$	124,000.00					
	include all removal with out 24" blockout							\$775.00	\$	124,000.00	\$0.00	0%
31	Type VI (Double Connection) barrier free	Each	100	\$	800.00	\$	80,000.00	4000.00				
22	ramps at intersections to include all removal		4.5			Φ	22.750.00	\$800.00	_	80,000.00	\$0.00	0%
32	6" Integral Curb	LF	15000	\$	2.25	\$	33,750.00	\$2.60	\$	39,000.00	\$0.35	16%

Ite m#	Line Item Description	UOM	Est. Quanti	U	nit Price		Est Cost					% inc
			ty					2014			\$ inc	over
								proposed cost	nev	v total	over original	origin al
33	8" Integral Curb	LF	2200	\$	2.30	\$	5,060.00	\$2.81	\$	6,182.00		22%
	6" concrete drive approach up to connecting	SY	3000	\$ \$	52.00	\$	156,000.00	\$65.40	·	196,200.00	\$0.51 \$13.40	26%
35	30" curb and gutter to include 6" curb 6.5 sac	LF	500	\$	27.00	\$	13,500.00	\$28.62	\$	14,310.00	\$13.40	6%
36	30" curb and gutter to include 6" curb 6.5 sac	LF	10000	\$	27.00	\$	270,000.00	\$33.92	\$	339,200.00	\$6.92	26%
37	24" curb and gutter to include 6" curb 6.5 sac	LF	500	\$	25.00	\$	12,500.00	\$31.80		15,900.00	\$6.80	27%
38	24" curb and gutter to include 6" curb 6.5 sac	LF	10000	\$	25.00	\$	250,000.00	\$31.80	·	318,000.00	\$6.80	27%
39	18" curb and gutter to include 6" curb 6.5 sac	LF	100	\$	15.00	\$	1,500.00	\$21.20	\$	2,120.00	\$6.20	41%
40	18" curb and gutter to include 6" curb 6.5 sac	LF	200	\$	15.00	\$	3,000.00	\$21.20	\$	4,240.00	\$6.20	41%
41	18" curb and gutter to include 6" curb 6.5 sac	LF	10000	\$	15.00	\$	150,000.00	\$21.20	\$	212,000.00	\$6.20	41%
42	Mow strip 12" x 12" #3 Rebar Ladder Shape	LF	400	\$	19.00	\$	7,600.00	\$21.20	\$	8,480.00	\$2.20	12%
	3" High Reinforced Concrete Berm as per Sr	LF	500	\$	7.00	\$	3,500.00	\$8.50		4,250.00	\$1.50	21%
	3" High Reinforced Concrete Berm as per Sp	LF	200	\$	10.00	\$	2,000.00	\$11.65	<u> </u>	2,330.00	\$1.65	17%
	4" High Reinforced Concrete Berm as per Sp	LF	500	\$	9.00	\$	4,500.00	\$10.60		5,300.00	\$1.60	18%
	4" High Reinforced Concrete Berm as per Sp	LF	200	\$	13.00	\$	2,600.00	\$14.84	\$	2,968.00	\$1.84	14%
	SDHPT (grade 2), Type A Flex Base - provid-	Ton	20000	\$	23.00	\$	460,000.00	\$27.26		545,200.00	\$4.26	19%
	5"- 6" depth stamped patterned median (3000	SY	1500	\$	110.00	\$	165,000.00	\$110.00	\$	165,000.00	\$0.00	0%
	Retaining wall (0-3') with 6' integral sidewall	LF	5000	\$	67.00	\$	335,000.00	\$74.52	\$	372,600.00	\$7.52	11%
	Remove HMAC and necessary sub-base	SY	10000	\$	13.00	\$	130,000.00	\$13.00	\$	130,000.00	\$0.00	0%
	Saw cut full depth concrete 6" to 10"	LF	30000	\$	3.00	\$	90,000.00	\$3.00	\$	90,000.00	\$0.00	0%
	Saw cut full depth concrete sidewalk 4 to 5"	LF	2000	\$	2.25	\$	4,500.00	\$2.25	\$	4,500.00	\$0.00	0%
	Saw cut asphalt full depth 2" to 6"	LF	15000	\$	2.50	\$	37,500.00	\$2.50		37,500.00	\$0.00	0%
54	Rout and Seal Random Cracks to include	LF	10000	\$	1.65	\$	16,500.00	\$2.0 0	Ψ	37,300.00	ψ0.00	070
	cleaning, complete in-place on both asphalt						,	\$1.65	\$	16,500.00	\$0.00	0%
55	Sodding 1' to 2' on all sides of construction -	SY	10000	\$	5.00	\$	50,000.00	\$5.00	\$	50,000.00	\$0.00	0%
56	Sodding 1' to 2' on all sides of construction -	SY	10000	\$	6.00	\$	60,000.00	\$6.00	\$	60,000.00	\$0.00	0%
57	Unclassified Excavation 0-50 c.y.	CY	1000	\$	15.00	\$	15,000.00	\$18.25	\$	18,250.00	\$3.25	22%
58	Unclassified Excavation 51-100 c.y.	CY	600	\$	15.00	\$	9,000.00	\$18.25	\$	10,950.00	\$3.25	22%
59	Unclassified Excavation 101+ c.y.	CY	20,000	\$	15.00	\$	300,000.00	\$18.25	\$	365,000.00	\$3.25	22%
60	Excavation/Removal of curb and gutter only	LF	200	\$	3.60	\$	720.00	\$4.19	\$	838.00	\$0.59	16%
61	Excavation/Removal of curb and gutter only	LF	200	\$	3.60	\$	720.00	\$4.19	\$	838.00	\$0.59	16%
62	Excavation/Removal of curb and gutter only	LF	15000	\$	3.60	\$	54,000.00	\$4.19	\$	62,850.00	\$0.59	16%
	Traffic Control on Major Thoroughfares,- (to	Each	20	\$	1,200.00	\$	24,000.00					
	be determined by owner) -This unit pay item							\$1,200.00	¢	24 000 00	\$0.00	00/
64	will be used to offset cost for additional Silt Fence – furnish and install complete in pl	LF	500	\$	2.00	\$	1,000.00	\$2.00	_	24,000.00 1,000.00	\$0.00 \$0.00	0%
	Inlet Protection, furnish and install complete		20	\$	75.00	\$	1,500.00	\$75.00		· · · · · · · · · · · · · · · · · · ·	\$0.00	0%
	Construction (Stone) Entrance, complete in pl		10	\$	500.00	\$	5,000.00	\$500.00		1,500.00 5,000.00		0%
	Unclassified Channel/Swale Grading and	CY	1000	\$	20.00		20,000.00	Ψ300.00	Ф	3,000.00	\$0.00	0%
0,	Compaction (95% Standard Proctor Density	0.1	1000	Ψ	20.00	Ψ	20,000.00					
	at Optimum Moisture), clearing and							#20.00		• • • • • • • •		0
60	grubbing, work fully performed, paid for by Select Fill Material for Channel/Swale	CY	1000	\$	15.00	\$	15,000.00	\$20.00	\$	20,000.00	\$0.00	0%
08	Grading and Compaction pay for Material	CI	1000	Ф	13.00	Ф	13,000.00					
	and Hauling to Site, placing the material							\$15.00	\$	15,000.00	\$0.00	0%
	Topsoil for Finished Grading, furnish and	CY	1000	\$	33.00	\$	33,000.00					
	place including fine grading to drain. Paid							\$43.01	\$	43,010.00	\$10.01	30%

Ite m#	Line Item Description	UOM	Est. Quanti	Un	it Price		Est Cost						% inc
111/1			ty					201 pro	posed	new	[,] total	\$ inc over original	over origin al
	Cleaning Culverts (18"-12"- 33" Pipe or 2.5' Height Box) remove debris, earth and other	CY	1000	\$	20.00	\$	20,000.00	\$	20.00				
	objectionable material from pipe and box									\$	20,000.00	\$0.00	0%
	Cleaning Culverts (36"+ Pipe or 2.5"+ Height Box) remove debris, earth and other	CY	1000	\$	20.00	\$	20,000.00	\$	20.00	\$	20,000.00	\$0.00	0%
72	Additional Clearing and Grubbing Along Channels, Headwalls, and Inlets, as called	CY	1000	\$	15.00	\$	15,000.00	\$	15.00	\$	15,000.00	\$0.00	0%
	Structural Reinforced Concrete, flumes, retaining walls, Wing walls and Headwalls to TxDot Standards, and other miscellaneous structural items, including formwork, cutting joints, testing, saw cutting existing	CY	1500	\$	475.00	\$	712,500.00	\$	475.00	\$	712,500.00	\$0.00	0%
74	Non & Reinforced Concrete (2,000 p.s.i.) thrust blocking, pipe collars, pipe plugs, encasement for utility mains, including	CY	500	\$	50.00	\$	25,000.00	\$	50.00	\$	25,000.00	\$0.00	0%
	12" Grouted Rock Riprap over Filter Fabric, furnish and install complete in place, 40% of	CY	500	\$	75.00	\$	37,500.00	\$	75.00	\$	37,500.00	\$0.00	0%
76	24" Grouted Riprap over Filter Fabric, furnish and install complete in place, 40% of	CY	1000	\$	90.00	\$	90,000.00	\$	90.00	\$	90,000.00	\$0.00	0%
77	Sheeting Shoring and Bracing, Site Specific Trench Safety Plan submitted to owner, OSHA Standards that are in effect at the	Each	10	\$	50.00	\$	500.00	\$	50.00	\$	500.00	\$0.00	0%
	Implement Trench Safety Plan 0-6.1 foot depth to flowline of pipe, furnish and install	LF	200	\$	2.00	\$	400.00	\$	2.00	\$	400.00	\$0.00	0%
	Implement Trench Safety Plan 6.1-10 foot depth to flowline of pipe, furnish and install	LF	200	\$	2.00	\$	400.00	\$	2.00	\$	400.00	\$0.00	0%
	Implement Trench Safety Plan 10.1-15 foot depth to flowline of pipe, furnish and install	LF	200	\$	2.00	\$	400.00	\$	2.00	\$	400.00	\$0.00	0%
	Additional Compacted Native Backfill for Pipe and Box Culverts, use existing material, excavation, backfill, to be paid only for	CY	500	\$	10.00	\$	5,000.00	\$	10.00	\$	5,000.00	\$0.00	0%
	Additional Modified flowable backfill – per tickets turned in daily, to be paid only if	CY	500	\$	50.00	\$	25,000.00	\$	50.00	\$	25,000.00	\$0.00	0%
	Additional Well Graded Crushed Stone (1/4" to 3/4") Backfill for embedment, to be paid	CY	500	\$	16.00	\$	8,000.00	\$	16.00	\$	8,000.00	\$0.00	0%
	Additional Well Graded Crushed Stone (1" to 3") Backfill for embedment, to be paid	CY	500	\$	16.00	\$	8,000.00	\$	16.00	\$	8,000.00	\$0.00	0%
85	Additional Sand Backfill for Pipe or Box Culverts, to be paid only if specifically	CY	500	\$	7.25	\$	3,625.00	\$	7.25	\$	3,625.00	\$0.00	0%
86	Box Culverts, as per details work fully performed, to be paid only if specifically	CY	500	\$	18.00	\$	9,000.00	\$	18.00	\$	9,000.00	\$0.00	0%
87	Reinforced Concrete Box Culvert, including formwork, cutting joints, testing, embedment, excavation, backfill and other	CY	500	\$	400.00	\$	200,000.00	\$	400.00	\$	200,000.00	\$0.00	0%
88	48" CL III RCP storm drain pipe, open cut furnish and install complete in place including embedment, excavation, backfill,	LF	50	\$	157.00	\$	7,850.00	\$	157.00		·	·	
	48" CL III RCP storm drain pipe, open cut, furnish and install complete in place	LF	75	\$	157.00	\$	11,775.00	\$	157.00	\$	7,850.00	\$0.00	0%
90	including embedment, backfill, clay cut-off 48" RCP storm drain pipe connection,	Б.	10	Φ.	100.00	\$	1,000.00	_	100.00	\$	11,775.00	\$0.00	0%
	furnish and install complete in place	Each	10	\$	100.00	Ī	,,,,,,,,	\$	100.00	\$	1,000.00	\$0.00	0%

	Line Item Description	UOM	Est.	U	nit Price	Est Cost						0/ :
m#			Quanti ty				201 pro	posed	new	total	\$ inc over original	% inc over origin al
	36" CL III RCP storm drain pipe, open cut furnish and install complete in place including embedment, excavation, backfill,	LF	75	\$	97.00	\$ 7,275.00	\$	97.00	\$	7,275.00	\$0.00	0%
	36" CL III RCP storm drain pipe, open cut, furnish and install complete in place including embedment, backfill, clay cut-off	LF	100	\$	97.00	\$ 9,700.00	\$	97.00	\$	9,700.00	\$0.00	0%
	36" RCP storm drain pipe connection,	Each	10	\$	100.00	\$ 1,000.00	\$	100.00	\$	1,000.00	\$0.00	0%
	30" CL III RCP storm drain pipe, open cut furnish and install complete in place including embedment, excavation, backfill,	LF	300	\$	80.00	\$ 24,000.00	\$	80.00	\$	24,000.00	\$0.00	0%
95	30" CL III RCP storm drain pipe, open cut, furnish and install complete in place including embedment, backfill, clay cut-off	LF	300	\$	80.00	\$ 24,000.00	\$	80.00	\$	24,000.00	\$0.00	0%
	30" RCP storm drain pipe connection,	Each	10	\$	100.00	\$ 1,000.00	\$	100.00	\$	1,000.00	\$0.00	0%
	24" CL III RCP storm drain pipe, open cut furnish and install complete in place including embedment, excavation, backfill,	LF	300	\$	70.00	\$ 21,000.00	\$	70.00	\$	21,000.00	\$0.00	0%
98	24" CL III RCP storm drain pipe, open cut, furnish and install complete in place including embedment, backfill, clay cut-off	LF	1000	\$	70.00	\$ 70,000.00	\$	70.00	\$	70,000.00	\$0.00	0%
	24" RCP storm drain pipe connection,	Each	20	\$	100.00	\$ 2,000.00	\$	100.00	\$	2,000.00	\$0.00	0%
	18" CL III RCP storm drain pipe, open cut furnish and install complete in place including embedment, excavation, backfill,	LF	300	\$	54.00	\$ 16,200.00	\$	54.00	\$	16,200.00	\$0.00	0%
101	18" CL III RCP storm drain pipe, open cut, furnish and install complete in place including embedment, backfill, clay cut-off	LF	300	\$	54.00	\$ 16,200.00	\$	54.00	\$	16,200.00	\$0.00	0%
102	18" RCP storm drain pipe connection,	Each	10	\$	100.00	\$ 1,000.00	\$	100.00	\$	1,000.00	\$0.00	0%
108	Recessed Curb Inlet (5'), remove old inlet/furnish and install complete in place,	Each	30	\$	2,000.00	\$ 60,000.00		2,000.00	\$	60,000.00	\$0.00	0%
	Recessed Curb Inlet (10'), remove old inlet/furnish and install complete in place,	Each	30	\$	2,250.00	67,500.00		2,250.00	\$	67,500.00	\$0.00	0%
	Modified Combination Recessed Curb & Grate Inlet (5'), remove old inlet/furnish and Modified Combination Recessed Curb &	Each Each	30	\$	2,000.00	60,000.00		2,000.00	\$	60,000.00	\$0.00	0%
	Grate Inlet (10'), remove old inlet/furnish					·			\$	67,500.00	\$0.00	0%
	Standard Depressed Curb (5'), remove old inlet/furnish and install complete in place,	Each	30	\$	2,000.00	\$ 60,000.00		2,000.00	\$	60,000.00	\$0.00	0%
	Standard Depressed Curb (10'), remove old inlet/furnish and install complete in place,	Each	30	\$	2,250.00	\$ 67,500.00		2,250.00	\$	67,500.00	\$0.00	0%
	Increase Proposed Inlet Length by 5 Linear Feet (Recessed Curb Inlet), contractor to bill	Each	30	\$	250.00	\$ 7,500.00	\$	250.00	\$	7,500.00	\$0.00	0%
	Increase Proposed Inlet Length by 5 Linear Feet (Modified Combination Recessed Curb Inlet), contractor to bill for modified	Each	30	\$	250.00	\$ 7,500.00	\$	250.00	\$	7,500.00	\$0.00	0%
116	Increase Proposed Inlet Length by 5 Linear Feet (Standard Depressed Curb Inlet), contractor to bill for standard depressed curb	Each	30	\$	250.00	\$ 7,500.00	\$	250.00	\$	7,500.00	\$0.00	0%
117	5' inlet Extra Depth of Recessed/Standard Inle	LF	10	\$	50.00	\$ 500.00	\$	50.00	\$	500.00	\$0.00	0%
118	5' x 5' Type "Y" (table top) inlet, furnish and install complete in place, pipe connections,	Each	30	\$	1,500.00	\$ 45,000.00	\$ 1	1,500.00	\$	45,000.00	\$0.00	0%

	Line Item Description	UOM	Est.	Uı	nit Price		Est Cost						
m#			Quanti ty					201	14			\$ inc	% inc
			ty						posed			over	origin
								cos	-	new	total	original	al
	4' x 4' Type "Y" (table top) inlet, furnish and	Each	30	\$	1,500.00	\$	45,000.00	\$	1,500.00				
	install complete in place, pipe connections,							<u> </u>		\$	45,000.00	\$0.00	0%
	Type "A, B or E" Storm Drain Manhole, furnish and install, complete in place, Ring	CY	300	\$	375.00	\$	112,500.00	\$	375.00	\$	112,500.00	\$0.00	0%
	Stacked Manhole Extension, as per details, 48" dia., Ring and Cover, collar around pipe,	VF	50	\$	100.00	\$	5,000.00	\$	100.00	\$	5,000.00	\$0.00	0%
	Adjust Water Mains, Wastewater Mains, Manholes, or other utility conflicts with the storm drain pipe, furnish and install all	%	1%		25%				25%		,		
	materials complete in place, contractor to be									\$	0.00	\$0.00	0%
	Utility Pole Bracing, coordinating with Franchise Utility Company, bracing pole or	Each	25	\$	500.00	\$	12,500.00	\$	500.00	\$	12,500.00	\$0.00	0%
	Type A, B, or E, Storm Drain Manhole, furnish and install complete in place, Ring and Cover, pipe connections, 6.1-8'depth to	LF	200	\$	50.00	\$	10,000.00	\$	50.00	\$	10,000.00	\$0.00	0%
125	Type A, B, or E, Storm Drain Manhole, furnish and install complete in place, Ring and Cover, pipe connections, 8.1-10'depth to	LF	200	\$	50.00	\$	10,000.00	\$	50.00	\$	10,000.00	\$0.00	0%
	Type A, B, or E, Storm Drain Manhole, furnish and install complete in place, Ring and Cover, pipe connections, 10.1-12'depth	LF	200	\$	50.00	\$	10,000.00	\$	50.00	\$	10,000.00	\$0.00	0%
	Type A, B, or E, Storm Drain Manhole, furnish and install complete in place, Ring and Cover, pipe connections, 12.1-14'depth	LF	200	\$	50.00	\$	10,000.00	\$	50.00	\$	10,000.00	\$0.00	0%
	10' inlet Extra Depth of Recessed/Standard In	LF	10			\$	1,000.00			Ψ	10,000.00	Ψ0.00	0 /0
	,			\$	100.00			\$	100.00	\$	1,000.00	\$0.00	0%
129	Rock Filler Dam Type 1	LF	100	\$	20.00	\$	2,000.00	\$	20.00	\$	2,000.00	\$0.00	0%
	Rock Filler Dam Type 2	LF	100	\$	20.00	\$	2,000.00	\$	20.00	\$	2,000.00	\$0.00	0%
131	Rock Filler Dam Type 3	LF	100	\$	20.00	\$	2,000.00	\$	20.00	\$	2,000.00	\$0.00	0%
	Total					9,	,078,834.00			\$ 1	0,164,029.60		